
Problem 3—Pornography 
 

As everyone knows, pornography is judged by the number of X's in its rating.  Given the number 
of X's in the rating, you are to draw the rating using ASCII art. 
 
INPUT SPECIFICATION.  You will be given a set of input cases, each of which will be an 
unsigned decimal integer less than 100.  The last input case will be followed by -1.  There may 
be any number of spaces and <EOLN>'s before, after, and between the input cases and the 
terminating -1. 
 
OUTPUT SPECIFICATION.  The output cases should appear in the same order as the input 
cases.  An exact specification would be pointless; just follow the example.  Make sure your 
spaces are exactly as given here! 
 
SAMPLE INPUT. 
2<EOLN> 
3<EOLN> 
-1 <EOLN> 
<EOF> 
 

SAMPLE OUTPUT. 
Case•1 <EOLN> 
\•/\•/ <EOLN> 
•X••X• <EOLN> 
/•\/•\ <EOLN> 
<EOLN> 
Case•2 <EOLN> 
\•/\•/\•/ <EOLN> 
•X••X••X• <EOLN> 
/•\/•\/•\ <EOLN> 
<EOLN> 
<EOF> 


